
1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Fasteners List

COLORDESCRIPTIONPART NUMBERQTYITEM

MagentaHex-Head BoltDIN 933 - M12  x 5011

CyanWasherDIN 6916 - 1722

BlueHex-Head BoltDIN 933 - M16  x 3023

RedHex NutDIN 985 - M1624

RedHexagonal socket-head screwDIN 7991 - M16x30165

PurpleHexagonal socket-head screwDIN 7991 - M20x4026

PurpleWasherDIN 6916 - 3127

GreenWasherDIN 125 - A 1368

GreenHex-Head BoltDIN 931-1 - M12 x 10069

CyanCylinder Head Cap ScrewDIN 6912 - M16 x 50210

BlueWasherDIN 7349 - 17411

RedWasherDIN 6916 - 281812

YellowHexagonal socket-head screwDIN 7991 - M16x40213

YellowWasherDIN 125 - A 8,41014

YellowHex-Head BoltDIN 933 - M8  x 161015

BrownWasherDIN 125 - A 17616

1 
A3

Forest tank

Valtra N HiTech
State Changes Date Name

Drawn

Checked

Standard

Date Name

17.10.2008

www.jake.fiJAKE

1

23

4

5 6 7

8

9

1011 12 13

14

15

16


